
Corrections Needed for Remi’s Plot
    I tried the lensing again with the same maps Remi used for the plot below in red.
 (https://mocks.cita.utoronto.ca/index.php/File:Cib_totalfield_powerspectrum_reldiff.png) 

The plot on the left is what I plotted using Remi’s total maps from cal_sky_new. Note 
that this is the map Remi posted in ‘mocks.’ (It is absolute value.) 

The plot on the right is what plotted after I did the lensing myself. It is more similar 
to Remi’s plot than before (since I was able to use shells from z = 0 to z=4.6 for 
the kappa rather than only from z = 0 to z=3.2), but the fractional difference is still 
noticeably smaller. 

     Remi’s plot in mocks



Below is Remi’s added map (which I used to reproduce Remi’s plot), displaying the 
values in the pixels. Note that the first value of the array is around 0.4286 (let’s call 
this a).

Below is my added map, also displaying the pixel values. The first value is around 
0.4624 (let’s call this b)

I needed to see if I was doing the lensing correctly, so I compared the pixel values 
for each of the shells. The shells start from z=0.0 and ends at z=4.6 so there is a 
total of 23 maps. The maps were labeled from Map 0 being z=0.0 to z=0.2 ~ Map 
22 being z = 4.4 to z= 4.6. 
The left side is a printout of Remi’s shell pixel values, while the right side is mine.
The overall results are given in the subsequent pages.
Starting from shell z=0.0 to z=0.2 (Map 0), 

1) Remi doesn’t have a Map 0, it seems that he didn’t add up the first shell after the 
lensing (since z= 0.0 to 0.2 cannot be lensed). Let’s take the first value from my 
Map 0 as before: 0.00229
2) Map 1 (z=0.2 to z=0.4) show different values; Remi’s is negative, while mine is 
positive. Taking the first values of both and taking the difference, 
0.00824-(-0.00166)=0.0099



Map 2 to Map 11 are exactly the same.

However, Remi has does not have a Map 12. So shell z=2.4 to z=2.6 is missing.

The first value of my Map 12 is 0.02163.

The rest are all the same.

Now, adding the three values up, 
(Map 0)+(difference of Map 1)+(Map 12) = 0,00229+0.0099+0.02163 = 0.03382.

From the previous page, the first value of Remi’s total map, a = 0.4286 and mine b = 
0.4624.
b-a = 0.0338 which is basically the same as the difference resulting from the three 
shells.

If I am correct, the fractional difference of the  spectrum from the simulations is 
smaller than what was posted in ‘mocks’ website. 

The total added maps before lensing are a bit different as well, but the difference is 
much smaller and does not affect the fractional difference as much. (The first shell 
was missing as well, which seems to reason for the discrepancy.)

The next two pages show the comparison of all 23 maps values. 






